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Q.l Fill in the blanks: 

• • 1]2 + 3-_ 

2] 5 - _ = 0 

3] I more than 5 = _. 

4] - 5 = 0 

5] Arrange the numbers in increasing order. 

10, 9, 11 ,14. ____ _ 

. ] Which one is smaller --- 18 or 8 ? _ 

• 7] 5 _ 4 = 9 [put + or - sign] 

8] Write Number name of I 8 -

9] 10 10 [Use >,< or = sign] 

1 0] 16 =------ [Write expanded form ] 

I I] I ten + 2 ones = -----

12] Write between number of Jo 12 

Date: 

Class Teacher's Sign: 

--
112MI 



Q.2 Solve the following : 112MI 
Al Fill in the missing numbers: 

I) 2 + + 2 = 2 

2) Subtract 2 from 9. 

Bl Write the numbers in expanded form . 

~I 

- -
TENS ONES -

11 
I 

' 2 15 
I 

Cl Arrange the numbers in ascending and descending order: 

- NUMBERS ASCENDING DESCENDrNG 
1) 10,18,9,8,14,2,11,19 

DI Solve the story word problems: 

I] 9 books are kept on the table. Sushant took 2 of them. How many books are left on the table? 
Solution: 

No. of books on the table = T 0 
9 

No. of books Sushant took = 

I 2 

Q.3 Solve the following: (18MI 
A] Write the numbers as tens and ones and write the number names. 

Numbers Tens ones Number names 
11 

17 

Bl Write any 3 combination numbers: 

7 

1 

2 

3 

I 
I 

• • 

• • 



j 

,q Solve th 
l] ese Rina h word problems 
S I 

. as 3 hair )' H · · · · h · h ? O Uhon· c ips. er sister has 2 hair clips. How many total hair clip both t e sisters ave · 

No of h · · · ·r 
air chps Rina has = O 

No of h · 1- • air c 1ps sister has = □ 

2]Thece a,e 5 honey bees siNing on the flower. A ll of them new away. How many bees are left? 

Solution: 
No of honeybees on flower = _ 

~ 

T 0 - -

No of honeybees flew away = __ _ I 

• • 3) 8 pears are kept on t he table .Ali ate 4 of them. How many pears are left on the t able? 

Solution: 
No. of pears on the table = _ 

T 0 

No. of pears ali ate = _ D 

•

4]There are 16 swings in a park.4 swings were broken .How many swings left? 

olut1on: T 0 
• No of swings in a park = ___ _ 

No of swings broken = I 

5]Mohit had ajar with J? n t · -1 H Solution: - u s m • . e ate 2 of them. How many nuts are left in the jar ? 

T 0 

No of nuts in ajar = 

No of nuts Moh it ate = ' 



- ~ Rad ha has 
9 

macblcs Mchul gi,cs hcc 4 rcom his ~,llcctioa of ma<bles. How many ma,blcs does :7 have? 
Solution: 

T \ 0 , No of marbles Radha have t 
No or marbles Mchul ~ave = 

Q.4.Sol"e the following: 
18MI 1) There are ten children standing in a queue outside the amusement park. S more chi ldren join the queue. How many children are in the queue now ? Solution: 

T 0 

• • 

2) Mitu bought a dozen bananas . She ate 1 of them before her yoga class. How many bananas does she have now ? 
Solution: 

I 

T 0 

J 
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